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QUESTION 1

Which statement is true about the configuration of NetApp VSeries? 

A. VSeries uses RAID 0 or striping when creating aggregates or volumes. RAID protection is performed on the backend
array. 

B. VSeries uses RAID with parity, when creating aggregates or volumes. This parity protection is in addition to that on
the backend array. 

C. VSeries uses RAID with parity, when creating aggregates or volumes. Parity protection is disabled on the backend
array. 

D. VSeries offers the choice of configuring RAID with parity on the controller and RAID on the backend array providing a
dual parity solution. 

Correct Answer: A 

 

QUESTION 2

Which feature of the NearStore VTL solution enables it to useup to 50% fewer physical tapes than other VTLs? 

A. shadow tapes 

B. tape smart sizing 

C. self tuning 

D. tape compressor 

Correct Answer: B 

 

QUESTION 3

Which two benefits does NetApp offer that differentiate it from the competition? (Choose two.) 

A. a bundling of consulting services 

B. a seamless upgrade path for storage 

C. a variety of disk drive capacities and speeds 

D. a single operating system for primary and secondary storage 

Correct Answer: BD 

 

QUESTION 4

Which two statements are true about NetApp Open Systems SnapVault? (Choose two.) 
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A. It can back up the WindowsSystemState. 

B. It supports AIX, HPUX, Linux, Windows, and Solaris. 

C. It can back up toNearStore VTL. 

D. The SnapVault secondary cannot be mounted via NFS or CIFS. 

Correct Answer: AB 

 

QUESTION 5

Enterprise Content Management (ECM) products like Documentum and FileNet require that data is stored in a
nonerasable format. Which NetApp software product provides this? 

A. SnapVault 

B. SnapLock 

C. SnapWORM 

D. SnapMirror 

Correct Answer: B 
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